Key Stage 2: Year 6: Dividing numbers up to 4 digits by a two-digit

whole number

1. 408 +12 =
2. 784+ 14 =
3. 884+ 17 =
4. 585+ 15 =
5. 942 + 24 =
6. 819 + 26 =
7. 940 + 32 =
8. 962+ 37-=
9. 675+ 45 =
10. 828 + 48 =
1. 721+ 56 =
12. 962 + 74 =
13. 693 + 63 =
14. 1869 + 89 =
15. 2232 + 93 =

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

20.

30.

936 + 13 =

1335 + 15 =

1482 + 19 =

1755 + 26 =

1624 + 29 =

2415 + 35 =

3922 + 37 =

6951 + 42 =

5529 + 57 =

7056 + 63 =

5661 + 74 =

5236 + 77 =

6069 + 84 =

4316 + 52 =

4459 + 98 =
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Key Stage 2: Year 6: Dividing numbers up to 4 digits by a two-digit

whole number

31. 364 +13 =
32. 884 +17 =
33. 553 +14 =
34. 945 + 21 =
35. 865+ 25-=
36. 1156 + 34 =

37. 1007 + 38 =

38. 645+ 43 =
39, 1316 + 47 =
40. 1113 + 53 =
41, 2412 + 67 =

42. 1248 + 78 =

43. 984 + 82 =

44, 1557 + 90 =

45. 3288 + 96 =

46.

47.

48.

49.

50.

51.

52.

53.

54,

55.

56.

57.

58.

59.

60.

1023 + 11 =

2970 =15 =

5121 + 18 =

9955 + 22

8545 + 25

6188 + 34

5985 + 38

6048 + 45 =

1995 + 57 =

4056 + 60 =

4131 + 72 =

5149 + 76 =

2528 + 79

6974 + 88

5742 + 99
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Name: Date:

Dividing numbers up to 4 digits by a two-digit whole number

Question Answer

1. 585 + 13 =

2. 2048 + 16 =
3. 1786 + 19 =
4, 1603 + 28 =
5. 1260 + 32 =
6. 1638 + 52 =
7. 4836 + 78 =
8. 6674 + 94 =
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Answer Sheet: Key Stage 2: Year 6: Content Practice Questions

e

Number: Multiplication and division: Children will divide numbers up to & digits by a two-digit

whole number.

question answer marks

1 34
2 56
3 52
4 39
5 39.25
6 31.5
7 29.375
8 26
9 15
10 17.25
1 12.875
12 13
13 n
14 21
15 24
16 72
17 89
18 78
19 67.5
20 56
21 69
22 106

question answer marks
23 165.5 1
24 97 1
25 112 1
26 76.5 1
27 68 1
28 72.25 1
29 83 1
30 45.5 1
31 28 1
32 52 1
33 39.5 1
34 45 1
35 34.6 1
36 34 1
37 26.5 1
38 15 1
39 28 1
40 21 1
41 36 1
42 16 1
43 12 1
44 17.3 1
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Answer Sheet: Key Stage 2: Year 6: Content Practice Questions

e

Number: Multiplication and division: Children will divide numbers up to & digits by a two-digit

whole number.

question answer marks
45 34.25
46 93
47 198
48 284.5
49 452.5
50 341.8
51 182
52 157.5
53 134.4
54 35
55 67.6
56 57.375
57 67.75
58 32
59 79.25
60 58
Total 60

Worksheet answers

question answer marks
1 45 1
2 128 1
3 94 1
4 57.25 1
5 39.375 1
6 31.5 1
7 62 1
8 7 1
Total 8
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